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ObjectName Type | log(Vpeak) | mjd-min | mjd-max | DO 000
S2 0109+22 BL Lac 14.6 54581 54974 69
S2 0109+22 BL Lac 14.6 56086 56413 12
Mis V1436 FSRQ 13.6 54790 54976 25
Mis V1436 FSRQ 13.6 54976 55414 78
3C 66A BL Lac 15.1 54612 54974 114
3C 66A BL Lac 15.1 54974 55345 142
3C 66A BL Lac 15.1 55345 55671 72
3C 66A BL Lac 15.1 55671 56073 30
3C 66A BL Lac 15.1 56073 56409 69
3C 66A BL Lac 15.1 56409 56797 56
AO 0235+164 | BL Lac 13.5 54617 54946 70
S50716+714 BL Lac 14.6 54665 55050 138
S50716+714 BL Lac 14.6 55050 55389 156
S50716+714 BL Lac 14.6 55389 55746 98
S50716+714 BL Lac 14.6 55746 56125 98
S50716+714 BL Lac 14.6 56125 56484 83
S50716+714 BL Lac 14.6 56484 56868 51
0J 49 BL Lac 13.5 54683 55002 25
0J 49 BL Lac 13.5 55002 55456 27
0J 287 BL Lac 134 54696 55045 100
0J 287 BL Lac 134 55045 55451 116
0J 287 BL Lac 13.4 55451 55773 40
0J 287 BL Lac 134 55773 56161 42
0J 287 BL Lac 134 56161 56488 60
0J 287 BL Lac 13.4 56488 56872 54
Mrk 421 BL Lac 16.6 55127 55438 36
Mrk 421 BL Lac 16.6 55438 55772 49
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ON 325 BL Lac 15.5 54745 55078 32
3C279 FSRQ 12.6 54621 55115 58
3C279 FSRQ 12.6 56161 56528 38

3C 279 FSRQ 12.6 56528 56938 48
PKS 1502+106 FSRQ 13.6 54568 55045 60
PKS 1510-089 FSRQ 13.1 54759 55124 50
RX J1542.8+612 | FSRQ 14.1 54895 55490 99
PG 1553+113 BL Lac 15.4 55155 55508 37
PG 1553+113 BL Lac 15.4 55508 55804 15
PG 1553+113 BL Lac 15.4 55804 56228 37
PG 1553+113 BL Lac 15.4 56228 56629 65
PG 1553+113 BL Lac 15.4 56629 56956 50
Mrk 501 BL Lac 17.1 55817 56289 53
Mrk 501 BL Lac 17.1 56289 56660 84
Mrk 501 BL Lac 17.1 56660 56956 50
PKS 1749+096 FSRQ 13.1 54609 54838 60
PKS 1749+096 FSRQ 13.1 55880 56780 77
3C371 FSRQ 14.7 54555 54952 81
1ES 19594650 | BL Lac 16.6 54577 54934 40
1ES 19594650 | BL Lac 16.6 56135 56859 121
PKS 2155-304 | BL Lac 16.0 54628 54925 57
PKS 2155-304 | BL Lac 16.0 54925 55253 72
BL Lac BL Lac 13.6 54537 54908 100
BL Lac BL Lac 13.6 54908 55270 104
BL Lac BL Lac 13.6 55270 55605 58
BL Lac BL Lac 13.6 55605 56011 67
BL Lac BL Lac 13.6 56011 56347 82
BL Lac BL Lac 13.6 56347 56735 100
CTA 102 FSRQ 13.6 56140 56339 41
CTA 102 FSRQ 13.6 56461 56688 32
3C454.3 FSRQ 13.6 54542 54930 108
3C454.3 FSRQ 13.6 54930 55270 155
3C454.3 FSRQ 13.6 55270 55795 91
3C454.3 FSRQ 13.6 56000 56370 53
3C454.3 FSRQ 13.6 56370 56744 78
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ObjectName Type Acxp lexp o-gxp ARBF IRBF o2pp || mjd_min | mjd_max
S2 0109+22 BL Lac | 0.0171 3.2434 0 0.0067 34.851 0.0121 56086 56413
S2 0109+22 BL Lac | 0.065 4.1745 0 0.048 4.1053 0.0168 54581 54974
Mis V1436 FSRQ | 0.0818 12.509 0 0.0783 9.5568 0.015 54790 54976
Mis V1436 FSRQ | 0.5256 | 71.8507 0 0.1204 9.4583 0.0348 54976 55414
3C 66A BL Lac | 0.0414 9.6753 6e-04 | 0.0337 4.0536 0.0042 54612 54974
3C 66A BL Lac | 0.0583 | 19.4648 0 0.0436 8.2301 0.0049 54974 55345
3C 66A BL Lac | 0.0356 7.6587 0 0.034 3.2634 0.0026 55345 55671
3C 66A BL Lac | 0.0324 | 16.1558 0 0.0268 | 10.4877 | 0.0037 56073 56409
3C 66A BL Lac | 0.0224 | 42.2057 | 0.0016 | 0.0168 | 10.4983 | 0.0024 56409 56797
3C 66A BL Lac | 0.0122 | 11.0967 0 0.0122 7.0056 0.001 55671 56073

AO 0235+164 BL Lac | 0.8566 | 36.6927 0 0.9619 | 39.502 | 0.1471 54617 54946

S50716+714 BL Lac | 0.322 11.6167 0 0.2351 9.5445 | 0.0538 55746 56125

S50716+714 BL Lac | 0.3303 | 26.9027 0 0.2351 13.228 | 0.0234 55389 55746

S50716+714 BL Lac | 0.126 9.2321 0.0116 | 0.1038 | 4.0375 | 0.0242 55050 55389

S50716+714 BL Lac | 0.3654 | 52.2543 | 0.0127 | 0.3565 | 29.0472 | 0.0401 56125 56484

S50716+714 BL Lac | 0.1538 | 12.7234 0 0.13 5.2058 | 0.0131 54665 55050
S50716+714 BL Lac | 0.3108 | 20.0389 0 0.2741 9.0416 | 0.0273 56484 56868
0J 49 BL Lac | 0.0837 | 13.6947 0 0.0866 | 11.0671 | 0.0096 54683 55002
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0J 49 BL Lac | 0.0658 | 7.0801 0.0079 | 0.0485 | 6.2997 | 0.0228 55002 55456

0J 287 BL Lac | 0.1024 | 14.0854 0 0.0905 | 4.5099 | 0.0028 56488 56872

0J 287 BL Lac | 0.0604 | 13.5952 0 0.0524 | 5.5208 | 0.0048 55451 55773

0J 287 BL Lac | 0.162 14.7606 | 0.0028 | 0.1227 4.207 0.0133 54696 55045

0J 287 BL Lac | 0.1404 | 29.1319 0 0.1242 | 12.2881 | 0.0098 56161 56488

0J 287 BL Lac 0.2 35.8616 0 0.132 10.2514 | 0.0074 55045 55451

0J 287 BL Lac | 0.1914 | 29.7764 0 0.1593 10.304 | 0.0115 55773 56161
Mrk 421 BL Lac | 0.0938 | 21.9309 0 0.092 7.5343 | 0.0039 55438 55772
Mrk 421 BL Lac | 0.1114 | 104.5393 | 0.0099 | 0.1293 | 53.5241 | 0.0134 55127 55438
ON 325 BL Lac | 0.0128 | 13.1443 | 0.0013 | 0.0049 | 31.533 | 0.0055 54745 55078

3C 279 FSRQ | 0.4565 | 69.0934 0 0.285 13.3968 | 0.0162 54621 55115
3C279 FSRQ | 0.0673 | 57.0011 0 0.0595 | 20.4249 | 0.0023 56161 56528

3C 279 FSRQ | 0.2255 | 64.0844 0 0.1598 | 24.225 | 0.0124 56528 56938
PKS 1502+106 FSRQ | 0.2912 | 22.6855 | 0.0125 | 0.2801 8.778 0.0292 54568 55045
PKS 1510-089 FSRQ | 0.3808 | 8.7428 0 0.3122 | 2.6489 | 0.0147 54759 55124
RX J1542.8+612 | FSRQ | 0.0188 | 11.7667 0 0.0182 | 3.8993 8e-04 54895 55490
PG 1553+113 BL Lac | 0.0367 | 71.3352 0 0.0222 | 13.4939 | 0.001 55804 56228
PG 1553+113 BL Lac | 0.0634 | 158.9784 0 0.0358 | 22.6094 | 0.0016 55155 55508
PG 1553+113 BL Lac | 0.0116 | 27.1288 0 0.01 15.9195 | 0.0013 55508 55804
PG 1553+113 BL Lac | 0.0091 | 11.0718 0 0.0096 | 30.6333 | 0.0015 56629 56956
PG 1553+113 BL Lac | 0.0978 | 255.8096 0 0.0576 | 24.5242 | 6e-04 56228 56629
Mrk 501 BL Lac | 0.0064 | 0.7642 | 0.0012 | 0.0024 | 29.561 | 0.0058 56660 56956
Mrk 501 BL Lac | 0.0086 29.97 0.0075 | 0.0094 | 13.7314 | 0.0073 55817 56289
Mrk 501 BL Lac | 0.0106 | 54.5679 | 0.0092 | 0.0148 | 64.5185 | 0.0105 56289 56660
PKS 1749+096 FSRQ | 0.3657 | 101.2685 | 0.1725 | 0.3013 | 43.2065 | 0.201 55880 56780
PKS 1749+096 FSRQ | 0.4884 | 46.2234 0 0.4867 | 13.9951 | 0.0255 54609 54838
3C371 FSRQ | 0.0173 | 21.269 | 0.0012 | 0.0198 | 33.3588 | 0.0045 54555 54952
1ES 1959+650 | BL Lac | 0.0731 | 93.3806 0 0.0584 | 30.3544 | 0.0025 56135 56859
1ES 19594650 | BL Lac | 0.0101 | 15.0602 | 9e-04 | 0.0086 7.489 0.002 54577 54934
PKS 2155-304 | BL Lac | 0.1409 | 48.5103 0 0.1268 | 25.7568 | 0.0083 54628 54925
PKS 2155-304 | BL Lac | 0.0652 | 17.2303 0 0.0604 | 8.5923 | 0.0049 54925 55253
BL Lac BL Lac | 0.3418 | 15.0286 0 0.6291 | 143.4775 | 0.0613 56347 56735

BL Lac BL Lac | 0.1156 | 11.5457 | 0.0053 | 0.0871 9.9262 | 0.0258 55605 56011

BL Lac BL Lac | 0.5332 | 22.0798 0 0.3187 | 32.9341 | 0.0582 56011 56347

BL Lac BL Lac | 0.0409 | 4.9601 0 0.0277 | 5.0873 | 0.0107 54537 54908

BL Lac BL Lac | 0.1277 | 34.1622 | 0.0111 | 0.1373 | 17.8757 | 0.0183 55270 55605

BL Lac BL Lac | 0.0789 | 13.7887 | 0.015 | 0.0681 8.1914 | 0.0253 54908 55270
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CTA 102 FSRQ | 0.3502 6.333 0 0.2763 | 16.6982 | 0.0878 56140 56339
CTA 102 FSRQ | 0.0263 | 3.2289 | 0.0066 | 0.0201 3.7803 | 0.0128 56461 56688
3C 4543 FSRQ | 0.4756 | 53.037 0 0.3364 | 19.4396 | 0.0246 54542 54930
3C 4543 FSRQ | 0.192 18.7656 | 0.0138 | 0.1427 | 3.0063 | 0.0208 56370 56744
3C 4543 FSRQ | 0.2766 | 42.534 | 0.0073 | 0.2068 | 8.4763 | 0.0176 54930 55270
3C 4543 FSRQ | 0.3508 | 55.8357 | 0.0279 | 0.3099 | 21.3444 | 0.0503 55270 55795
3C 4543 FSRQ | 0.0413 18.909 0 0.035 5.6092 | 0.0025 56000 56370
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Sparse Logistic Regression
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Aexp=0.16, lexy=14.76, 02,,=0.0

— Mean
x Data
= Confidence

54700 54750 54800 54850 54900 54950 55000
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Q) 287, LSP
Aexp=0.2, lexy=35.86, 03,,=0.0

—— Mean
x Data
B Confidence

55100

55150 55200 55250 55300 55350

Q) 287, LSP
Aexp=0.06, lexp=13.6, 02,,=0.0

—— Mean
x Data
B Confidence

55500

55550 55600 55650 55700

0) 287, LSP
Aexp=0.19, lexp=29.78, 03,,=0.0

— Mean
x Data
B Confidence

55800

55850 55900 55950 56000 56050 56100

0) 287, LSP
Aep=0.14, lexp=29.13, 02,,=0.0

Mean
Data
Confidence

56150

56200

56250 56300 56350 56400 56450



Q) 287, LSP
Aep=0.1, lep=14.09, 03,,=0.0

—— Mean
x Data
B Confidence

56500 56550 56600 56650 56700 56750 56800 56850

Mrk 421, HSP
Aexp=0.11, lexp=104.54, 02,,=0.01

—— Mean
x Data
I Confidence

55150 55200 55250 55300 55350 55400

Mrk 421, HSP
Aep=0.09, lexp=21.93, 02,,=0.0

—— Mean
x Data
I Confidence

55450 55500 55550 55600 55650 55700 55750

ON 325, HSP
Aexp=0.01, lep=13.14, 02,,=0.0

— Mean
x Data
= Confidence

3C 279, LSP (FSRQ)
Acxp=0.46, loxy=69.09, 02,,=0.0

—— Mean
x Data
B Confidence

54800 54850 54900 54950 55000 55050

3C 279, LSP (FSRQ)
Aexp=0.07, lexp=57.0, 02,,=0.0

—— Mean
x Data
B Confidence

56250 56300 56350 56400 56450 56500

3C 279, LSP (FSRQ)
Aep=0.23, lexp=64.08, 02,,=0.0

—— Mean
x Data
I Confidence

56600 56650 56700 56750 56800 56850 56900

PKS 1502+106, LSP (FSRQ)
Aexp=0.29, lexp=22.69, 02,,=0.01

— Mean
x Data
B Confidence

54780 54800 54820 54840 54860 54880 54900 54920 54940

54700 54800 54900 55000
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PKS 1510-089, LSP (FSRQ) PG 1553+113, HSP
Aexp=0.38, lexp=8.74, 02,,=0.0 Aexp=0.04, lexp=71.34, 02,,=0.0

x —— Mean —— Mean
x Data x Data
I Confidence B Confidence

54800 54850 54900 54950 55000 55050 55950 56000 56050 56100 56150 56200
RX J1542.8+612, LSP (FSRQ) PG 1553+113, HSP
Aexp=0.02, lexp=11.77, 02,,=0.0 Aexp=0.1, lexp=255.81, 02,,=0.0

—— Mean
x Data
B Confidence

—— Mean
x Data
I Confidence

54900 55000 55100 55200 55300 55400 55500 56250 56300 56350 56400 56450 56500 56550 56600
PG 1553+113, HSP PG 1553+113, HSP
Aexp=0.06, lexy=158.98, 02,,=0.0 Aexp=0.01, lexp=11.07, 02,,=0.0

—— Mean —— Mean
x Data - x Data
I Confidence I Confidence

55200 55250 55300 55350 55400 55450 56650 56700 56750 56800 56850 56900
PG 15534113, HSP Mrk 501, HSP
Aexp=0.01, lexp=27.13, 02,,=0.0 Aexp=0.01, lep=29.97, 03,,=0.01

— Mean .41 — Mean
x Data x Data
B Confidence B Confidence

55575 55600 55625 55650 55675 55700 55725 55900 55950 56000 56050 56100 56150 56200 56250
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Mrk 501, HSP
Aexp=0.01, lexp=54.57, 02,,=0.01

—— Mean
x Data
B Confidence

56300 56400 56500 56600
Mrk 501, HSP
Aexp=0.01, lexy=0.76, 02,,=0.0
—— Mean
x Data

I Confidence

56650

56700 56750 56800 56850 56900

PKS 17494096, LSP (FSRQ)
Aexp=0.49, ey =46.22, 02,,=0.0

—— Mean
x Data
I Confidence

54650

54675 54700 54725 54750 54775 54800 54825

PKS 1749+096, LSP (FSRQ)
Aexp=0.37, lexp=101.27, 02,,=0.17

— Mean
x Data
= Confidence

55800

56000 56200 56400 56600

55

3C 371, ISP (FSRQ)
Aexp=0.02, lexp=21.27, 02,,=0.0

—— Mean
x Data
B Confidence

54600

54650 54700 54750 54800 54850 54900 54950

1ES 1959+650, ISP
Aexp=0.01, lexp=15.06, 02,,=0.0

—— Mean
x Data

B Confidence

54650

54700 54750 54800 54850

1ES 1959+650, ISP
Aep=0.07, lexp=93.38, 02,,=0.0

—— Mean
x Data
I Confidence

56000

56200

56400 56600 56800

PKS 2155-304, HSP
Aep=0.14, lexp=48.51, 02,,=0.0

— Mean
x Data

B Confidence

54650

54700 54750 54800

54850



PKS 2155-304, HSP
Aexp=0.07, lexp=17.23, 02,,=0.0

—— Mean
x Data
I Confidence

55000 55050 55100 55150 55200

BL Lac, LSP
Aexp=0.04, lexp=4.96, 0Z,,=0.0

—— Mean
x Data
I Confidence

54600 54650 54700 54750 54800 54850 54900

BL Lac, LSP
Aexp=0.08, lex,=13.79, U§XP=0.02

—— Mean
x Data
I Confidence

54900 54950 55000 55050 55100 55150 55200 55250 55300

BL Lac, LSP
Aexp=0.13, lexp=34.16, 02,,=0.01

— Mean
x Data
B Confidence

0 T T T T T T T T
55250 55300 55350 55400 55450 55500 55550 55600
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BL Lac, LSP
Aexp=0.12, lexp=11.55, 02,,=0.01

—— Mean
x Data
I Confidence

55600 55700 55800 55900

BL Lac, LSP
Aexp=0.53, lexp=22.08, 02,,=0.0

56000

—— Mean
x Data
I Confidence

56000 56050 56100 56150 56200 56250 5

BL Lac, LSP
Aexp=0.38, lexp=15.03, 02,,=0.0

6300

56350

—— Mean
x Data
= Confidence

56350 56400 56450 56500 56550 56600 56650

CTA 102, LSP (FSRQ)
Aexp=0.35, lexp=6.33, 02,,=0.0

56700 56750

— Mean
x Data
B Confidence

56180 56200 56220 56240 56260 56280

56300

56320



CTA 102, LSP (FSRQ)
Aexp=0.03, lexp=3.23, 03,,=0.01

—— Mean
x Data
I Confidence

3C 454.3, LSP (FSRQ)
Aexp=0.04, lexp=18.91, 02,,=0.0

56450 56500 56550 56600 56650

3C 454.3, LSP (FSRQ)
Acxp=0.48, lexp=53.04, 02,,=0.0

—— Mean
x Data
B Confidence

—— Mean
x Data
B Confidence

56100

54600 54650 54700 54750 54800 54850 54900

3C 454.3, LSP (FSRQ)
Aexp=0.28, lexp=42.53, 02,,=0.01

56150 56200 56250 56300

3C 454.3, LSP (FSRQ)
Aexp=0.19, lexp=18.77, 02,,=0.01

—— Mean
x Data
B Confidence

54900 54950 55000 55050 55100 55150 55200 55250 55300

3C 454.3, LSP (FSRQ)
Aexp=0.35, lexp=55.84, 02,,=0.03

x —— Mean
x Data
B Confidence

55200 55300 55400 55500 55600 55700 55800

57
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